NV - DYVYN N VDRD 2IAN-HN NODVIINN
09:00 : YW 26.1.15 :1»N2N TINN 172NN YTy NvPan
Y N NID MYV 3 D»NIAN TYNn D)2 17K Wy NP2 A

IN IV — /N B2399959Y norvnnn

DMI0N N DN YL INDT.D P2 LN

APN5 ANINDI NITIN MNINHI DIPMNIND 1PV .MINYN YD NN 1IN
IIN2SN2 . N2VNN MY 1Y 1IN DIV YRNYNY PR .MYY 3 1Nann Tuvn
NTIN NIANNA 2 AYNY NTI9) NN 1 AYNY
N3N NNINA 5,6 MYNY ,NHaNHn NNING 3,4 MYNY

ANy 20) 1 nHNY
210 VAVN NN NIM VLS (MNP 10) (N)

lin} x* =9 =4 95w MmN 9% NN (Mmp 10) ()

NN NN f(X) 2NN (NP3 15) 2 nHNY

e"—e " +2In(1+x) .
J(x)= x ’

a, %=1

# 0

. X, =0 NTIPI2 HYINY MIPNON @ MVNION YV TIY NPR MY (N)

X, =0 nMpaa f(x) DIMIN IR HIYN ,DNIPN PYONN @ T0RIDN YW 1Y May (3)

AN NP) 20) 3 HoNY

x>0 mbYs nmpaa e MPNPNAN W NN NN IYN (N)

nwMm L, (%, ¥,)=(2,0) "M e’ —x(¥y+5)=-9 nmpyd prunn Sv Mown NN NN (3)
AT NP POUNRN NNV NN

Inx 2
.TINN DINNA 990N HaY T < — 0N (MNP 20) 4 nYNY
X e

IV NININ I NN OUHH X 935 MO MMM 9 XY fF(X) NISPN NN (MNP 10) 5 hYNY
g(x) = ax+b PN SV 9NN AN TN £(x) DY 9NN 1IN 10 10D (PN 12192) N1 f(x) Yv
PR DIOPH NP Y f(x) NIURIN NITNIY M 1IN . NP) 3-2 PrT1a

P (0,1) yopanmn, [0,1] yOPa NS SPN fix) NN (MNPl 15) 6 ANV
A(0)=0, f(1)=1
cf'(c) + f(c) =1 :ovpaanmavw 15 ¢ € (0,1) nn»p 5 NN

Ill'anYxyxna




